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dl'he question paper is set in English and Hindi. If there is any discrepancy
between Engllsh and Hindi version then the English version is considered

(f)correct.
=3) e 9 & fav RA ¥ 3% 3% THay g am .

.=~The marks allotted to each question are mentioned against them.,

45T, ANSA BleT JTfe & 39ART & T 3egAfd =6 8.

o Use of calculator, mobile phone etc. not permitted.
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Answer for question under General English to be written in English only
and for the questions under General arithmetic and general Knowledge
answer may be written in Hindi or English version and Hindi version of this
question is attached..
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N e R PR I ImTAL WO
AVATLEY Y RNUZLEZM Hinos

qre-v 3 PART-A - ENGLISH

(30 Marks)

Q.No.1 Read the following passage carefully and answer the questions:
(5x1= 5
Marks) '

What are the good parts of our civilization? First and foremost there are order and
safety. If today I have a quarrel with another man, I do not get beaten merely
because I am physically weaker and he can kick me down. I go to law, and the
law will decide as fairly as it can between the two of us. Thus in disputes between
. man and man right have taken the place of might. Moreover, the law protects me
@from robbery and violence. Nobody may come and break into my house, steal my
ngods or run off with my children. Of course, there are burglars, but they are very
are, and the law punishes them whenever it catches them.
=8 It is difficult for us to realize how much this safety means. Without safety these
Chigher acti-vities of mankind which make up civilization could not go on. The
Oinventor could not invent, the scientist find out or the artist make beautiful
.'I:things. Hence, order and safety, although they are not themselves civilization are
things without which civilization would be impossible. They are as necessary to
=jour civilization as the air we breathe is to us; and we have grown so used to them
Gl:hat we do not notice them any more than we notice the air.
Another great achievement of our civilization is that today civilized men are
argely free from the fear of pain. They still fall ill, but illness is no longer the
terrible thing it used to be.... Not only do men and women enjoy better health;
-==they live longer than they ever did before, and they have a much better chance of
> rowing -up.... Thirdly, our civilization is more secure than any that have gone
qL”%efore it. This is because it is much more widely spread.... Previous civilizations
[_were specialized and limited, they were like oases in a desert.

1 Now-a-days a physically weak man is provided protection by :
(A) The group whose membership he opts for
(B] The law .
(C) His wit and wisdom
(D) His cunningness

2. In olden days the rule of life was :
(A) Right
(B} Might.
(C) Spiritualism
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3. The third merit of the present civilization, according to the author, is:
(A) The present civilization is more secure than any that has gone before
(B) The present civilization has liberal outlook on life
(C) The present civilization has provided more leisure
(D) The present civilization is more wide spread in the sense that large

number of people are civilized now than ever before

4. 'They were like oases in a desert' what does it mean?
(A) Previous civilizations were more attractive than the present
civilization
(B) Previous civilizations were confined to a very limited area while
barbarians were far larger in number
(C) Previous civilizations were short-lived
(D) Previous civilizations were attractive from outside only
5. The present civilization:
(A) Begins from 16th century
(B) Begins from 17th century
. (C} Has no fixed date for its inception
@ (D) Begins from 18th century

Q.
(G Q.-No.2 Fill in the blanks with appropriate words

(a (5x1=5)

g (i) The police on their rounds early in the morning

e () a (b) has (c) are (d) was

"J; (il  One of the tourists been missing for the past week.

Q (a) Was (b} has {c) were (d) had ‘

=35 (iiify Only the latest equipment on display at the main office,

0 (a) Is (b} a (c) has (d) were

N (ivy  The woman together with all her children not injured in the
incident.

= inci

(o) (a) Is (b) was {c} has (d) were

-; (v) Some reckless drivers detained by the police at the road block.

Q (a) Is (b) was (c) has (d) were.

.

(L. Q.No.3 &I U 91T 9l Iy & g HI 93 HaW & fA@r ar &, 399 98 3R &

far ar eme RU v § 39H @ Fecan ¥ETen weg g,

In each of the sentences below a word is printed in capital. For each of the
capital word, four words are listed below. Choose the word nearest in

meaning to it. (5x1= 5 IFMarks)
1. DECAMP
(a) Move (b) Encamp (c) Flee (d) Hide

2. PHILANTHROPIST
(a) Benefactor (b) Beneficiary (c) Matron (d) Sponsor
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ATVATIVY NUZLSEAULNOS

3. EXOTIC
(a) Alien (b) Strange (c) Rare (d) Grand
4. INCAPACITATE
(a) Cripple (b) strengthen (c) Imprison (d) Invent
5. CONGREGATION
(a) Concentration (b) Meeting (¢} Discussion (d) Judgement

Q.No.4 fo=faf@a oAt & a2 3Rt & fEar r &, 3t dooemrg IR o ar asanr
fear ar B, 39d 92 R & fov su9d @ Fecan fuda s a1 =g &Y

— .

L |

@ud prefixes to make the negatives of these words. Each of the following

&estions consists of a word printed in capital letters, followed by four words or
rases. Select the word or phrase that is opposite in meaning to the capitalized

Geord. (5x1= 5 HMarks)

o)

= 1 MATERIAL 7

8 (a) Materials  (b) Unmaterial (c) Immaterial (d) Materialistic

=5 2. MANNERED '

O (a) Mannerless (b) ill-mannered (c) Manner (d) unmannered
3. NORMAL

g (a) Normalistic (b) Normalled (c) abnormal (d) None.

o 4. ADVANTAGE

-; (a) Disadvantage (b) Advantageous (c) Advance (d) None.
5. PERFECT

e (a) Perfection (b) perfectless (c) Imperfect (d) None.

o

Q.No.5 v Rf@a & & foody ve R 9T 7 & 7 250 st 7 ey o,

Write an essay on any one of the following not less than 250 words. _
. (1x10= 10 Marks)
(a) Role of Railways in India.

(b) Swacch Bharat Abhiyan
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PART ‘B’
AT Ae GENERAL KNOWLEDGE (40 3%/ Marks)

I. f=a @ #RT Fill in the blanks: (10 x 1 Mark = 10 Marks)

1. Railway Minister of India /HRd & {&HA!

(a) mamtra Banerjee (b) Mallikarjun Kharge (c) Suresh Prabhu (d) Dinesh
Trivedi

2. No. of Divisions in South Western Railway /@0 qfs Yo & dsar fr sy

m .

(@B (b) 2 (c) 3 d) 4
3

3. Chief Minister of Karnataka Flics & JEIHA

(a) gD Kumarswamy (b) Yedurappa (c] Sadanand Gouda (d) Siddaramaiah
4, E’;’hakah Dance originated in &Il ol fre o ¥ FafT §

(a) 'Ermlnadu (b) Kerala (c) Andhra Pradesh (d) Telangana

5. cﬁPitaJ city of state of Sikkim/RfEFH sy Fr U

{a} I@lkata (b} Imphal (c) agartala (d) Gangtok

6. J@ falls situated in which state ST FaW9d T T :ﬂr o &

(a) &dhra Pradesh (b) Maharashtra (c) Karnataka (d) Kerala

7. No. of states in India JIRT 2 & =AY ¥ &A1

(a) 26 (b) 28 (c)29 (d) 30

8. Moon is a/dgaT FT §

(a) Comet [b) Satellite (c) Planet (d) Star
9. Hars of United Nations Organisation (U.N.O.) #Gd US; TS H AGATTY &gl
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AVAMTIVY NUELSSIA HLAGE

(a) Washington (b) New York (c) New Delhi (d) Paris

10. Who receives Dronacharya Award ST qUE&hR f&hd fAear g

{(a) Scientists (b) Sports Coaches (c) Doctors (d) Writers

I farmt fofaa = anfsw.
Match the following (10x1 Marks=10 Marks)
!q—, SATH / Name ¥ 53 §U & / Associated with
o 1. | AGY TXH/Mother Teresa Sl 30T HeA“Janaganamana....”
© 2, {IH{sIHRamanujam’s ¢ ATARH Vandemataram
o 3. | €dr df THUT C.V.Raman FEAT & T&ETA Theory of Numbers
g 4. | dfradeg el SITIFT Physics
— Bankim Chandra Chatopadhyaya
1)} 5 | Teegary &R erifa Peace
g Ravindranath Tagore
e} 6. | =&y gaft National Bird fehehT Cricket
7. | gferr fAST Sania Mirja THIRIA Telephone
g 8. | #ug fRIATT Sayed Kirmani T SoTet Sfeam Engine
_9 9. | IMEH I Graham Bell AT Tennis
> 10. | /AT 1T James Watt HI Peacock
o
a
il rafal@a & Tearer &¢

Expand the following abbreviations :(10x2 Marks = 20 Marks)
(a)CPU (b)W W W  (c) HDTV (d) ROM (e)IPS

() RRB (g RCF  (h)RDSO (i) SIM (i) ATM

Previous Question Paper

Page 6 of 7



AT A0g GENERAL MATHEMATICS

(30 Marks)

LA f@a &1 g F{. Solve the following :  (6x5 Marks =30 Marks)

Lfwer 7 A wsF vF R Y Fear @ e 13:7 & | IS ofger A wear 39 @

or wsfFal @ §&ar fFaey & | In a class the ratio between boys and girls is 13:7. If
the number of boys is 39,find the number of girls?

239187 T 5 M T HAT 20500 § AR 290871 vd 3 I T FHAAT 13400 &, O v
'q',sna TS U I T HAT 9910 | The cost of 3 horses and 5 cows is Rs.20,500 and

Q.the cost of 2horses and 3cows is Rs.13,400.Find the cost of one horse and one
mcow? '

=33 A Tk dF A 10% ST R & qrel & forw 2000 T947 A7 foham | 3 A1 a1
03'{3[ férerer weheie ST wTod §3M? Raju deposited Rs.2000 in a bank for 3 years at

m 10% interest per annum.Find the compound interest he gets after 3 years?

O
=5 4.37%50T 3R T o FAW 10000 T& 15000 FToAT @G AR A e fowar | afg

Gaﬁ*ﬁﬁmeSOO?ﬂTmﬂmm?ArunandKaraninvest

() Rs.10,000 and Rs.15,000 in a partnership business. If the profit they earn at the

gcnd of the year is Rs.5,500.find the share of profit each gets?

"Ssud HEA 10 BE A U AET G FGT § | AR AT F T 6 21 Rroheier sy

Der & x @ 3% 3vreT 3mer o7 24 FBralles & @ @ AW A E A 0 A

n'%?l’l?ﬁ'd'\" #H 9dU | A man completes a journey in 10 hours. He travels first half of

the journey at the rate of 21kmph and the second half at the rate of 24kmph.
Find the total journey in Kms?

6.3 U HEAT FT N IWF 3 A A gl AT ¢ o AT 28 B | A HEAT AW | If

the square of a number is added to 3 times the number, the sum is 28. Find the
numbers?

Previous Question Paper

Page 7 of 7

SOUTHWESTORN BAILVAY





